Building a 3-Axis Bucky Skull

DAvis
GRAVEYARD 5~

By Jeff & Chris Davis

www.davisgraveyard.com



[ )

Low cost o
o Natura MoOVEM
e Mostly: OfT-tRE-=S
* Easy te o ,)er

W



Parts and Tools

e 5/16” to 10-32 adaptor, 10-32 nut
* 5/16” nut, lock washer, ball bearing
e 17%"” Delrin Ball

. Seryos and connectors - \%.
* Spring, nylon washer, eye hook

» 1/8” Plexiglas

* Rotary tool

* Jig saw, band saw, or scr
e Electric drill with assort
» Standard Screw driver
* Needle nose and standard pliers

* 5/16” die for threading rod

aw
its




Modify the skull

* Remove Hardware
e Sand groove around inside
* Drill holes for eyes




Making the plate

o ————

 Trace inside of skull with a b
e Cut out the Plexiglas, sand t
* Trace the 3 servos and cut o
* Drill holes for servos and m
e Cut 1” access hole ‘
e Cut jaw linkage access hole |




Building the stand

s
e Cut 7” of 5/16” rogl andimount in plywood
* Thread the top 2” of t
* Drill hole in center of




Installing Servos

* [nstall 3 servos usmg24
* Install servo br’a’k ‘
* Install jaw
* Insta adjustableséry
* Epoxy ra’




Installing Linkages

* Pop out swivel from the 2-56 swivel ball

* Drill out to fit over 10- 32‘o,d\$
* Cut 2-56 threaded-rod for tilt, noG%and turn

f e’cs to.rods




Wiring

e Use seven 6” female servo connectors

* Wired eﬁ.@%cks
* Wire all power (retywjges to 1 jack wire
+ Cut ansand off the tablon the jatk

* Put protéctive cover overNack wires'

* Install jackS\into cutouts usingixit
Y

“




]JE:’ NEC posmon
1cJ nedlinkage to 10-32 rod
DU ‘access hole

i ol
IS yme te)aw
meshreughidrilled hole in skull

/

ire hook and epoxy in closed position



Attaching to Skeleton

* Cut the rod down to same height as top'of stand
* Thread 1” of rod using 5/16” die |
* Insert bearing and Delrin ball

 Thread 5/16” half nut and add bracket

* Add lock washer, reducer and tighten

* Install head, attach spring and turn socket
 Attach tilt and nod linkages and 10-32 nut
* Use silicone sealer to seal skull top includingh







Questions?



